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MNU 303a Bronze Outcomes 1-4 

             Calculate 

 

 
 

           Solve the following equation. 

 
                3𝑥 − 4 = −19 
 

 

MTH 315a Bronze Outcome 3 

 

 
         Write down the coordinates of   

           the points on the grid below.   
 

 

MTH 318a Bronze Outcome 1 

 

 

         Calculate the size of the   

           missing angle in the triangle  

           below.   
 

 
 

MTH 317a Bronze Outcome 3 

 

         Calculate 
1

9
 of 63 kilometres. 

 
 

MNU 307a Bronze Outcome 2 

 

 

My score: 
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            Change €6∙20 into pounds and  

            pence using the exchange rate  

            provided. 
 

   Exchange Rate:- £1 = €1∙17 

 

MNU 309a Silver Outcome 4 

 

 

           What is the probability  

           of rolling a dice and it  

           landing on a multiple of 2?  
 

           Give your answer as a fraction  

           in its simplest form.  
 

MNU 322a Gold Outcome 2 

 

 
         What is the lowest common   

           multiple of 180 and 240? 

 

 

 

 
 

MTH 305a Gold Outcome 3 
 

 

 

 

           How long would it  

           take the Hutchisons  

           to drive 320 miles while             

           travelling at an average speed   

           of 30 miles per hour? 
 

MNU 310a Silver Outcome 4 

 

 

           Simplify 

 

(a) 𝑧3 − 5𝑧 + 2𝑧3 + 3𝑧 
 

(b) 8𝑝 × 5𝑝 
 

 
 
 
 
 
 

 

MTH 314a Gold Outcome 1 

 

 

My score: 
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